BID ON: JANITORIAL SUPPLIES - AS NEEDED BASIS

BID NO: 21-10

OPENED: JUNE 29, 2021 @ 10:00 AM

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	UNIT COST	PERFERRED PACKAGING	TOTAL COST
	I. CHEMICALS						
1	Clothes Wash Detergent	146	lb	Imperial Dade Dees Paper Office Depot	\$0.60 \$0.792 \$1.78	50 lbs/box	\$87.93 \$115.632 \$259.88
2	Crème Cleanser	357	qts	Dees Paper Imperial Dade Office Depot	\$1.9533 \$2.41 \$6.05	12 qts/case	\$697.3281 \$858.69 \$2,159.85
3	Foam Hand Sanitizer	331	ml	Dees Paper Imperial Dade Office Depot	\$0.0060 \$0.01 \$9.35	6ml /case	\$1.9860 \$2.59 \$3,094.85
4	Antiseptic Hand Cleaner	899	gal	Dees Paper Imperial Dade Office Depot	\$8.34 \$8.37 \$13.30	gal/case	\$7,497.66 \$7,521.46 \$11,956.70
5	Foam Hand Soap	6,296	ml/	Dees Paper Imperial Dade Office Depot	\$0.0040 \$0.01 \$9.61	12ml/case	\$25.1840 \$41.02 \$60,504.56

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	UNIT COST	PERFERRED PACKAGING	TOTAL COST
6	Foam Soap Dispenser	1,768	each	Imperial Dade	\$0.00	each	\$0.00
	No Charge			Dees Paper	\$0.00		\$0.00
				Office Depot	\$5.42		\$9,582.56
7	Acidic Free Bowl Cleaner	243	qts	Dees Paper	\$1.3475	12 qts/case	\$327.4425
				Imperial Dade	\$1.61		\$390.73
				Office Depot	\$3.77		\$916.11
8	Urinal Screen	10,215	ea	Imperial Dade	\$1.52	12 ea/case	\$15,531.44
				Dees Paper	\$1.88		\$19,204.20
				Office Depot	\$4.30		\$43,924.50
9	Disinfectant	1,244	gal	Dees Paper	\$6.35	4 gal/case	\$7,899.40
				Imperial Dade	\$7.01		\$8,718.60
				Office Depot	\$9.21		\$11,457.24
10	Graffiti Wipes	80	tub	Dees Paper	\$7.8367	6 tub/case	\$626.9360
				Imperial Dade	\$12.79		\$1,023.03
				Office Depot	\$15.05		\$1,204.00
11	Gum Remover	13	oz	Dees Paper	\$0.2276	12 ea/case	\$2.9588
				Imperial Dade	\$0.40		\$5.17
				Office Depot	\$8.14		\$97.68
12	Baseboard Stripper	390	OZ	Dees Paper	\$0.1298	12 pkg/case	\$50.6220
				Imperial Dade	\$0.14		\$56.06
				Office Depot	\$9.92		\$3,868.80

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	COST UNIT	PACKAGING PERFERRED	COST TOTAL
13	Furniture Polish	38	oz	Imperial Dade	\$0.12	12 ea/case	\$4.68
				Dees Paper	\$0.1452		\$5.5176
				Office Depot	\$6.18		\$234.84
14	Vomit Control	97	1b	Dees Paper	\$3.0204	24#/case	\$292.9788
				Imperial Dade	\$3.94		\$382.12
				Office Depot	\$18.50		\$1,794.50
15	Wasp Spray	113	oz	Dees Paper	\$0.1610	12 ea/case	\$18.1930
				Imperial Dade	\$0.20		\$22.66
				Office Depot	\$7.45		\$841.85
16	Crawing Insect Spray	67	oz	Dees Paper	\$0.1447	12 ea/case	\$9.6949
				Imperial Dade	\$0.28		\$18.49
				Office Depot	\$7.02		\$470.35
17	Stainless Steel Cleaner/Polish	31	oz	Imperial Dade	\$0.16	12 ea/case	\$5.10
				Dees Paper	\$0.1829		\$5.6699
				Office Depot	\$9.47		\$293.57
18	Dust Mop Treatment	100	gal	Dees Paper *	\$0.1651	4 gal/case	\$16.5100
				Office Depot	\$5.96		\$596.00
				Imperial Dade	\$6.30		\$630.40
19	Defoamer	978	gal	Imperial Dade	\$6.43	4 gal/case	\$6,287.54
			_	Dees Paper	\$7.40	-	\$7,237.20
				Office Depot	\$9.57		\$9,359.46

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	COST UNIT	PACKAGING PERFERRED	COST TOTAL
20	Hand Dishwashing Detergent	74	OZ	Imperial Dade Dees Paper	\$0.08 \$0.1059	8 /case	\$5.66 \$7.8366
				Office Depot	\$6.37		\$471.38
21	Alcohol Foaming Hand Sanitizer	0	ml	Dees Paper	\$0.0070	6ml/case	\$0.00
				Imperial Dade	\$0.01		\$0.00
				Office Depot	\$9.35		\$0.00
22	Alcohol Gel Hand Sanitizer	0	gal	Dees Paper	\$11.04	4 gal/case	\$0.00
				Imperial Dade	\$12.78		\$0.00
				Office Depot	\$27.50		\$0.00
23	Hospital Disinfectant Aerosol	0	ea	Imperial Dade	\$2.61	12ea/case	\$0.00
				Dees Paper	\$2.8658		\$0.00
				Office Depot	\$3.55		\$0.00
24	Foaming Hospital Disinfectant Aer	0	ea	Imperial Dade	\$2.10	12ea/case	\$0.00
	-			Dees Paper	\$2.54		\$0.00
				Office Depot	\$3.26		\$0.00
25	Touch Free Foam Hand Soap Disp	0	ea	Dees Paper	\$11.65	each	\$0.00
	1 1			Office Depot	\$43.59		\$0.00
				Imperial Dade	\$55.45		\$0.00

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	UNIT COST	PERFERRED PACKAGING	TOTAL COST			
	II. DISPENSER CHEMICALS									
26	Bio-Enzymatic Urine Digester Manufacturer: MIDLAB	494		Imperial Dade	\$2.40		\$1,183.54			
	Standard Pkg.: 4/1GAL Dilution Ratio: 1/64	Case of 4/gallo Diluted cost pe		14						
	Bio-Enzymatic Urine Digester Manufacturer: Betco Standard Pkg.: 4-2 liter/case			Dees Paper	\$7.0788		\$3,496.9272			
	Dilution Ratio: 1:64	Diluted cost per gallon \$0.4122								
	Bio-Enzymatic Urine Digester Manufacturer : Diversity Standard Pkg.: 4-1 gallon		liter	Office Depot	\$28.75	4/2 liters	\$14,202.50			
	Dilution Ratio: 1:64	Diluted cost pe	er gallon \$.11	1						
27	Heavy Duty Daily Floor Cleaner Manufacturer: MIDLAB Standard Pkg.: 4/1GAL Dilution Ratio: 1/64	79 2.5L/2 per ct Diluted cost pe	liter er gallon \$.13	Imperial Dade	\$2.15		\$169.55			
	Heavy Duty Daily Floor Cleaner Manufacturer: Betco Standard Pkg.: 4-2 liter/case			Dees Paper	\$7.6075		\$600.9925			
	Dilution Ratio: 1:256	Diluted cost pe	er gallon \$0.1	1121						

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	UNIT COST	PERFERRED PACKAGING	TOTAL COST
	Heavy Duty Daily Floor Cleaner Manufacturer: Diversey Standard Pkg.: 2-2.5 liter			Office Depot	\$46.50	4/2 liters	\$3,673.50
	Dilution Ratio: 1:128 - 1:256	Diluted cost po	er gallon \$.14	ļ			
28	Maintenance Cleaner for Wood Fl Manufacturer: MIDLAB	c 26	liter	Imperial Dade	\$1.86		\$48.45
	Standard Pkg.: 4/1GAL Dilution Ratio: 1/32	2.5L/2 per ct cost per gallor	n \$.22				
	Maintenance Cleaner for Wood Fl Manufacturer: Betco Standard Pkg.: 4-2 liter/case	oors		Dees Paper	\$7.5250		\$195.65
	Dilution Ratio: 1:64	Diluted cost po	er gallon \$0.4	1382			
	Maintenance Cleaner for Wood Fl Manufacturer: Diversity Standard Pkg.: 2 - 2.5 liter	oors		Office Depot	\$120.50	4/2 liters	\$3,133.00
	Dilution Ratio: 1:750	Diluted cost po	er gallon \$.12	2			
29	Deodorant Disinfectant Manufacturer: MIDLAB	154	liter	Imperial Dade	\$2.25		\$346.81
	Standard Pkg.: 4/1GAL	2.5L/2 per ct					
	Dilution Ratio: 1/64	Diluted cost pe	er gallon \$.13	}			

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	UNIT COST	PERFERRED PACKAGING	TOTAL COST
	Deodorant Disinfectant Manufacturer: Betco Standard Pkg.: 4-2 liter/case			Dees Paper	\$5.0950		\$784.63
	Dilution Ratio: 1:26	Diluted cost p	per gallon \$0.7	7143			
	Deodorant Disinfectant Manufacturer: Diversity Standard Pkg.: 2-2.5 liter	5 111	11 01 0	Office Depot	\$43.50	4/2 liters	\$6,699.00
	Dilution Ratio: 1:16	Diluted cost p	oer gallon \$1.9	04			
30	Foaming Dock and Dumpster Clea Manufacturer: MIDLAB Standard Pkg.: 4/1GAL	a 64	liter	Imperial Dade	\$3.09		\$197.88
	Dilution Ratio: 1/64	Diluted cost p	oer gallon \$.18	3			
	Foaming Dock and Dumpster Clea Manufacturer: Betco Standard Pkg.: 4-2 liter/case	ner		Dees Paper	\$7.0788		\$453.0432
	Dilution Ratio: 1:64	Diluted cost p	er gallon \$0.4	122			
	Foaming Dock and Dumpster Clea Manufacturer Standard Pkg. Dilution Ratio			Office Depot	N/A	4/2 liters	

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	UNIT COST	PERFERRED PACKAGING	TOTAL COST		
31	Acid-Free Cleaner Manufacturer: Diversey	1,321	liter	Office Depot	\$54.83	4/2 liters	\$72,430.43		
	Standard Pkg.: 2 - 2.5 liter	2.5L/2 per ct							
	Dilution Ratio: 1:128	Diluted cost pe	er gallon \$.32						
	Acid-Free Cleaner			Imperial Dade	\$5.16		\$6,811.41		
	Manufacturer: MIDLAB								
	Standard Pkg.: 4/1GAL								
	Dilution Ratio: 1/64	Diluted cost pe	er gallon \$.30						
	Acid-Free Cleaner			Dees Paper	\$6.7250		\$8,883.7250		
	Manufacturer: Betco								
	Standard Pkg.: 4-2 liter/case								
	Dilution Ratio: 1:64	Diluted cost per gallon \$0.3916							
32	Non-ammoniated Glass and Surfac Manufacturer: MIDLAB	154	liter	Imperial Dade	\$2.80		\$431.22		
	Standard Pkg.: 4/1GAL	2.5L/2 per ct							
	Dilution Ratio: 1/21	Diluted cost pe	er gallon \$.50						
	Non-ammoniated Glass and Surfac	e Cleaner		Dees Paper	\$7.8213		\$1,204.4802		
	Manufacturer: Betco			-					
	Standard Pkg.: 4-2 liter/case								
	Dilution Ratio: 1:64	Diluted cost pe	er gallon \$0.4	555					

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	UNIT COST	PERFERRED PACKAGING	TOTAL COST
	Non-ammoniated Glass and Sur Manufacturer: Diversity Standard Pkg.: 2 - 2.5 liter	face Cleaner		Office Depot	\$35.00	4/2 liters	\$190,890.00
	Dilution Ratio: 1:40	Diluted cost per	gallaon \$.6	5			
33	Non-Butyl Degreaser Manufacturer: MIDLAB	47	liter	Imperial Dade	\$1.79		\$84.24
	Standard Pkg.: 4/1GAL	2.5L/2 per ct					
	Dilution Ratio: 1/25	Diluted cost per	gallon \$.27	,			
	Non-Butyl Degreaser			Dees Paper	\$13.0475		\$613.2325
	Manufacturer: Betco						
	Standard Pkg.: 4-2 liter/case						
	Dilution Ratio: 1:20	Diluted cost per	gallon \$02.	.3519			
	Non-Butyl Degreaser Manufacturer: Diversity			Office Depot	\$71.00	4/2 liters	\$3,337.00
	Standard Pkg.: 2 - 2.5 liter	7 .11 1	11 00 1				
	Dilution Ratio: 1:16	Diluted cost per	gallon \$3.1	6			
34	Neutral Disinfectant Manufacturer: MIDLAB	1,280	liter	Imperial Dade	\$2.25		\$2,882.54
	Standard Pkg.: 4/1GAL	2.5L/2 per ct					
	Dilution Ratio: 1/64	Diluted cost per	. gallon \$0 1	3			
	Dilution Katio. 1/04	Diffuted cost per	ganon 50.1	J			

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	UNIT COST	PERFERRED PACKAGING	TOTAL COST
	Neutral Disinfectant Manufacturer: Betco Standard Pkg.: 4-2 liter/case			Dees Paper	\$8.09		\$10,355.20
	Dilution Ratio: 1:256	Diluted cost per	gallon \$0.1	1192			
	Neutral Disinfectant Manufacturer: Diversity Standard Pkg.: 2 - 2.5 liter Dilution Ratio: 1:256	Diluted cost per	gallon \$.12	Office Depot	\$39.65	4/2 liters	\$50,725.00
35	Sanitizer Manufacturer: MIDLAB Standard Pkg.: 4/1GAL Dilution Ratio: 1/512	8 2.5L/2 per ct Diluted cost per	liter	Imperial Dade	\$3.23		\$25.81
	Sanitizer Manufacturer: Betco Standard Pkg.: 4-2 liter/case			Dees Paper	\$6.33		\$50.64
	Dilution Ratio: 1:512	Diluted cost per	gallon \$0.0	0467			
	Sanitizer Manufacturer: Diversey Standard Pkg.: 2 - 2.5 liter	, 11	¢ 05	Office Depot	\$30.80	4/2 liters	\$246.40
	Dilution Ratio: 1:512	cost per gallon	\$.05				

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	UNIT COST	PERFERRED PACKAGING	TOTAL COST				
36	Extraction Cleaner Manufacturer: MIDLAB	38	liter	Imperial Dade	\$2.49		\$94.75				
	Standard Pkg.: 4/1GAL	2.5L/2 per ct									
	Dilution Ratio: 1/256	Diluted cost pe	r gallon \$0.0)4							
	Extraction Cleaner Manufacturer: Betco Standard Pkg.: 4-2 liter/case			Dees Paper	\$6.9663		\$264.7194				
	Dilution Ratio: 1:256	Diluted cost per gallon \$0.1026									
]	Extraction Cleaner Manufacturer : Diversey Standard Pkg.: 2 - 2.5 liter			Office Depot	\$88.50	4/2 liters	\$3,363.00				
	Dilution Ratio: 1:320	Diluted cost per gallon \$.14									
37	Daily Scrub Fastdose Manufacturer: MIDLAB	1,169	liter	Imperial Dade	\$1.04		\$1,217.71				
	Standard Pkg.: 4/1GAL	2.5L/2 per ct									
	Dilution Ratio: 1/256	Diluted cost pe	r gallon \$0.0)2							
	Daily Scrub Fastdose Manufacturer: Betco Standard Pkg.: 4-2 liter/case			Dees Paper	\$10.14		\$11,853.66				
	Dilution Ratio: 1:1024	Diluted cost pe	r gallon \$0.0)374							

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	UNIT COST	PERFERRED PACKAGING	TOTAL COST
	Daily Scrub Fastdose Manufacturer: Diversey Standard Pkg.: 2 - 2.5 liter			Office Depot	\$46.50	4/2 liters	\$54,358.50
	Dilution Ratio: 1:256	Diluted cost p	er gallon \$.14				
38	Lockable Chemical Management	170	ea	Dees Paper	\$0.00	ea	\$0.00
	Dispenser			Imperial Dade	\$0.00		\$0.00
	No Charge			Office Depot	\$0.00		\$0.00
39	Portable Chemical Management	60	ea	Office Depot	\$0.00	ea	\$0.00
	Dispenser			Dees Paper	\$0.00		\$0.00
				Imperial Dade	\$61.56		\$3,693.75
40	Hospital Peroxide Disinfectant	0	liter	Dees Paper	\$9.0250	4/2 liters	\$0.00
				Imperial Dade	\$11.21		\$0.00
				Office Depot	\$43.50		\$0.00
41	Metered Air Dispenser	0	ea	Office Depot	\$4.76	ea	\$0.00
				Imperial Dade	\$13.55		\$0.00
				Dees Paper	\$13.8200		\$0.00
42	Metered Aerosol Oder Eliminator	0	ea	Imperial Dade	\$2.28	ea	\$0.00
				Dees Paper	\$4.7500		\$0.00
				Office Depot	\$28.75		\$0.00

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	UNIT COST	PERFERRED PACKAGING	TOTAL COST
43	Concentrate Odor Eliminator Liner	0	ea	Imperial Dade Dees Paper Office Depot	\$2.51 \$9.3575 \$28.75	ea	\$0.00 \$0.00 \$0.00
44	Hydrogen Peroxide Disinfectant	0	liter	Imperial Dade Dees Paper Office Depot	\$11.21 \$16.4833 \$43.50	2/3 liters	\$0.00 \$0.00 \$0.00
	III. FLOOR FINISHES/STRIPPI	ER					
45	Sealer/Finisher Low Maintenance	3,164	gal	Imperial Dade Dees Paper Office Depot	\$10.34 \$10.47 \$96.00	5/gal	\$32,699.94 \$33,127.08 \$303,744.00
46	Sealer/Finish, High Maintenance	1,847	gal	Imperial Dade Dees Paper Office Depot	\$11.51 \$11.5200 \$96.00	5/gal	\$21,261.49 \$21,277.4400 \$177,312.00
47	Floor Stripper	2,752	gal	Imperial Dade Dees Paper Office Depot	\$6.45 \$8.67 \$96.66	5/gal	\$17,762.91 \$23,859.84 \$266,008.32
48	Floor Care Stripper	390	OZ	Dees Paper Imperial Dade Office Depot	\$0.1298 \$0.14 \$9.92	12/19oz can	\$50.6220 \$56.06 \$3,868.80

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	UNIT COST	PERFERRED PACKAGING	TOTAL COST
	IV MISCELLANEOUS						
49	Toliet Bowl Mop	1,557	ea	Dees Paper Imperial Dade Office Depot	\$0.59 \$0.60 \$0.89	ea	\$918.63 \$937.74 \$1,385.73
50	Toilet Bowl Brush, plastic handle	729	ea	Imperial Dade Dees Paper Office Depot	\$0.91 \$1.68 \$1.99	ea	\$662.73 \$1,224.72 \$1,450.71
51	Upright Dust Pans	688	ea	Imperial Dade Dees Paper Office Depot	\$5.94 \$6.33 \$9.57	dz	\$4,088.91 \$4,355.04 \$6,584.16
52	Nitrile Rubber Gloves Sizes Small, Medium, Large. X-larg	33 ge	ea	Dees Paper Imperial Dade Office Depot	\$1.34 \$1.94	dz	\$44.22 \$64.16
53	Disposable, Latex Gloves Small	170	box	Office Depot Imperial Dade Dees Paper	\$5.25 \$6.63 \$7.10	100/box	\$892.50 \$1,126.25 \$1,207.00
	Medium	899	box	Office Depot Imperial Dade Dees Paper	\$5.25 \$6.63 \$7.10	100/box	\$4,719.75 \$5,955.88 \$6,382.90

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	UNIT COST	PERFERRED PACKAGING	TOTAL COST
	Large	616	box	Office Depot	\$5.25	100/box	\$3,234.00
				Imperial Dade	\$6.63		\$4,081.00
				Dees Paper	\$7.10		\$4,373.60
	X-large	343	box	Office Depot	\$5.25	100/box	\$1,800.75
				Imperial Dade	\$6.63		\$2,272.38
			Dees Paper	\$7.10		\$2,435.30	
54	Disposable, Latex Gloves, Powder						
	Small	323	box	Imperial Dade	\$3.92	100/box	\$1,266.31
				Office Depot	\$5.25		\$1,695.75
				Dees Paper	\$7.35		\$2,374.05
	Medium	3,259	box	Imperial Dade	\$3.92	100/box	\$12,776.76
				Office Depot	\$5.25		\$17,109.75
				Dees Paper	\$7.35		\$23,953.65
	Large	2,319	box	Imperial Dade	\$3.92	100/box	\$9,091.53
				Office Depot	\$5.25		\$12,174.75
				Dees Paper	\$7.35		\$17,044.65
	X-large	1,392	box	Imperial Dade	\$3.92	100/box	\$5,457.27
				Office Depot	\$5.25		\$7,308.00
				Dees Paper	\$7.35		\$10,231.20

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	UNIT COST	PERFERRED PACKAGING	TOTAL COST
55	Vinyl Gloves, Powered Free						
	Small	121	box	Dees Paper Imperial Dade Office Depot	\$2.42 \$8.47	1000/box	\$292.82 \$1,024.38
	Medium	1,188	box	Dees Paper Imperial Dade Office Depot	\$2.42 \$7.83	1000/box	\$2,874.96 \$9,300.15
	Large	858	box	Dees Paper Imperial Dade Office Depot	\$2.42 \$7.83	1000/box	\$2,076.36 \$6,716.78
	X-large	409	box	Dees Paper Imperial Dade Office Depot	\$2.42 \$8.44	1000/box	\$989.78 \$3,452.33
56	Floor Sign	196	ea	Dees Paper Imperial Dade Office Depot	\$5.34 \$5.89 \$11.49	ea	\$1,046.64 \$1,153.73 \$2,252.04
57	Floor Sign, Orange Cone	27	ea	Dees Paper Imperial Dade Office Depot	\$10.75 \$17.97 \$27.30	ea	\$290.25 \$485.08 \$737.10

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	UNIT COST	PERFERRED PACKAGING	TOTAL COST
58	Stripping Shoes	X-Small-0	pair	Dees Paper Imperial Dade Office Depot	\$33.03 \$36.77	pair	\$0.00 \$0.00
		Small-0	pair	Dees Paper Imperial Dade Office Depot	\$33.03 \$36.77	pair	\$0.00 \$0.00
		Medium-41	pair	Dees Paper Imperial Dade Office Depot	\$33.03 \$36.77	pair	\$1,354.23 \$1,507.68
		Large-166	pair	Dees Paper Imperial Dade Office Depot	\$33.03 \$36.77	pair	\$5,482.98 \$6,104.27
		X-large-76	pair	Dees Paper Imperial Dade Office Depot	\$33.03 \$36.77	pair	\$2,510.28 \$2,794.73
		Giant-0	pair	Dees Paper Imperial Dade Office Depot	\$33.03 \$36.77	pair	\$0.00 \$0.00
	Replacement Soles	Medium-105	pair	Imperial Dade Dees Paper Office Depot	\$7.19 \$8.93	pair	\$755.28 \$937.65

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	UNIT COST	PERFERRED PACKAGING	TOTAL COST
		Large-0	pair	Imperial Dade Dees Paper Office Depot	\$7.19 \$8.93	pair	\$0.00 \$0.00
		X-large-38	pair	Imperial Dade Dees Paper Office Depot	\$7.19 \$8.93	pair	\$273.34 \$339.34
		Giant-27	pair	Imperial Dade Dees Paper Office Depot	\$7.19 \$8.93	pair	\$194.22 \$241.11
59	Safety Glasses	736	pair	Imperial Dade Dees Paper Office Depot	\$1.01 \$1.42 \$2.00	pair	\$744.36 \$1,045.12 \$1,472.00
60	N-95 or KN-95 Protective Breathing Mask	0	box	Dees Paper Office Depot Imperial Dade	\$1.50 \$5.00 \$25.13 \$47.73	box	\$0.00 \$0.00 \$0.00 \$0.00
61	Non-Medical Disposable Face Mask with Ties	0	ea Live	Imperial Dade Dees Paper eFree Personal Pro Office Depot	\$0.06 \$0.08 \$0.18 \$0.61	ea	\$0.00 \$0.00 \$0.00
62	Full Length Face Shields	0	ea	Dees Paper Office Depot Imperial Dade	\$1.60 \$2.08 \$3.41	ea	\$0.00 \$0.00 \$0.00

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	UNIT COST	PERFERRED PACKAGING	TOTAL COST
63	General Maintenance Looped-End Mops						
		Blue-3310	ea	Imperial Dade Dees Paper Office Depot	\$2.62 \$3.70	12/case	\$8,682.48 \$12,247.00
	a. medium	Green-3188	ea	Imperial Dade Dees Paper Office Depot	\$2.62 \$3.70 \$15.49	12/case	\$8,362.46 \$11,795.60 \$49,382.12
		White-157	ea	Imperial Dade Dees Paper Office Depot	\$2.62 \$3.70 \$8.99	12/case	\$411.83 \$580.90 \$1,411.43
	b. large	Blue-1195	ea	Imperial Dade Dees Paper Office Depot	\$3.60 \$4.52 \$17.99	12/case	\$4,305.85 \$5,401.40 \$21,498.05
		Green-1024	ea	Imperial Dade Dees Paper Office Depot	\$3.60 \$4.52	12/case	\$3,689.70 \$4,628.48
		White-70	ea	Imperial Dade Dees Paper Office Depot	\$3.60 \$4.52 \$12.34	12/case	\$252.23 \$316.40 \$863.80

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	UNIT COST	PERFERRED PACKAGING	TOTAL COST
		Blue-158	ea	Imperial Dade Dees Paper Office Depot	\$4.53 \$5.85	12/case	\$715.64 \$924.30
64	c. X-large Finish Mop	Green-160	ea	Imperial Dade Dees Paper Office Depot	\$4.53 \$5.85	12/case	\$724.70 \$936.00
04	a. 20 oz	1,029	ea	Imperial Dade Dees Paper Office Depot	\$3.38 \$4.08 \$9.24	case	\$3,472.88 \$4,198.32 \$9,507.96
	b. 24 oz.	477	ea	Office Depot Imperial Dade Dees Paper	\$4.30 \$4.76 \$5.21	case	\$2,051.10 \$2,271.17 \$2,485.17
65	Metal Head, Mop Handles-Quick Release			•			ŕ
	60"	49	ea	Imperial Dade Dees Paper Office Depot	\$5.14 \$5.99 \$33.24	ea	\$251.87 \$293.51 \$1,628.76
66	Plastic Mop Head Handles Quick Change, Fiberglass Handle	263	ea	Dees Paper Imperial Dade Office Depot	\$5.77 \$7.64 \$12.39	ea	\$1,517.51 \$2,010.36 \$3,258.57

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	UNIT COST	PERFERRED PACKAGING	TOTAL COST
67	Plastic Mop Head Handles Gripper Style, Fiberglass Handle	539	ea	Dees Paper Imperial Dade Office Depot	\$6.80 \$7.47 \$14.17	ea	\$3,665.20 \$4,024.13 \$7,637.63
68	Cobweb Duster	565	ea	Imperial Dade Dees Paper Office Depot	\$3.01 \$3.35 \$7.53	ea	\$1,701.42 \$1,892.75 \$4,254.45
69	Spun Microfiber Pocket Pad	95	ea	Dees Paper Imperial Dade Office Depot	\$3.47 \$4.00	ea	\$329.65 \$379.55
70	Conventional Dust Mops a. 12" x 5"	165	ea	Dees Paper Imperial Dade Office Depot	\$3.29 \$5.28	ea	\$542.85 \$871.88
	b. 18" x 5"	3,735	ea	Dees Paper Imperial Dade Office Depot	\$3.03 \$3.38 \$4.10	ea	\$11,317.05 \$12,609.16 \$15,313.50
	c. 24" x 5"	2,693	ea	Dees Paper Imperial Dade Office Depot	\$3.65 \$4.04 \$16.99	ea	\$9,829.45 \$10,876.56 \$45,754.07
	d. 36" x 5"	1,191	ea	Dees Paper Imperial Dade Office Depot	\$4.96 \$5.48 \$20.99	ea	\$5,907.36 \$6,529.07 \$24,999.09

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	COST UNIT	PACKAGING PERFERRED	COST TOTAL
	e. 48"X5"	877	ea	Dees Paper Imperial Dade Office Depot	\$6.78 \$7.43 \$26.99	ea	\$5,946.06 \$6,520.20 \$23,670.23
	f. 60" x 5"	385	ea	Dees Paper Imperial Dade Office Depot	\$9.05 \$9.08 \$11.19	ea	\$3,484.25 \$3,496.35 \$4,308.15
71	Dust Mop Frames a. 12" x 5"	21	ea	Dees Paper Imperial Dade Office Depot	\$2.15 \$5.25	ea	\$45.15 \$110.25
	b. 18" x 5"	162	ea	Imperial Dade Dees Paper Office Depot	\$1.99 \$2.44	ea	\$321.70 \$395.28
	c. 24" x 5"	121	ea	Imperial Dade Office Depot Dees Paper	\$2.13 \$2.54 \$2.64	ea	\$258.27 \$307.34 \$319.44
	d. 36" x 5"	115	ea	Imperial Dade Dees Paper Office Depot	\$2.74 \$3.19 \$5.99	ea	\$314.83 \$366.85 \$688.85

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	UNIT COST	PERFERRED PACKAGING	TOTAL COST
	e. 48"X5"	35	ea	Imperial Dade	\$3.73	ea	\$130.62
				Dees Paper	\$4.53		\$158.55
				Office Depot	\$6.99		\$244.65
	f. 60" x 5"	101	ea	Dees Paper	\$5.06	ea	\$511.06
				Imperial Dade	\$5.63		\$568.70
				Office Depot	\$11.19		\$1,130.19
72	Dust Mop Handles	333	ea	Imperial Dade	\$4.54	ea	\$1,511.11
				Dees Paper	\$5.40		\$1,798.20
				Office Depot	\$19.99		\$6,656.67
73	Microfiber Dust Mops						
	a. 5" x 18"	37	ea	Dees Paper	\$3.29	ea	\$121.73
				Imperial Dade	\$4.83		\$178.59
				Office Depot	\$14.19		\$525.03
	b. 5" x 24"	215	ea	Dees Paper	\$4.07	ea	\$875.05
				Imperial Dade	\$5.86		\$1,260.48
				Office Depot	\$9.99		\$2,147.85
	c. 5" x 36"	94	ea	Dees Paper	\$5.94	ea	\$558.36
				Imperial Dade	\$8.20		\$770.52
				Office Depot	\$12.99		\$1,221.06

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	UNIT COST	PERFERRED PACKAGING	TOTAL COST
	d. 5" x 48'	155	ea	Dees Paper	\$7.48	ea	\$1,159.40
				Imperial Dade	\$10.16		\$1,574.95
				Office Depot	\$16.99		\$2,633.45
	e. 5" x 60	118	ea	Dees Paper	\$9.30	ea	\$1,097.40
				Imperial Dade Office Depot	\$12.59		\$1,485.95
74	Various Brooms						
	a. Fan Maid Broom	56	each	Imperial Dade	\$3.85	each	\$215.73
				Dees Paper	\$3.99		\$223.44
				Office Depot	\$12.59		\$705.04
	b. 12" Large Angle Broom Polypro	1,018	each	Imperial Dade	\$3.73	each	\$3,794.36
				Dees Paper	\$3.85		\$3,919.30
				Office Depot	\$6.83		\$6,952.94
75	Soap Scouring Pads	134	box	Dees Paper	\$1.75	10 ea/box	\$234.50
				Imperial Dade	\$3.01		\$403.52
				Office Depot	\$10.39		\$1,392.26
76	Waste Recepticles						
	Container, 20 gal	34	ea	Dees Paper	\$12.00	ea	\$408.00
				Imperial Dade	\$14.89		\$506.14
				Office Depot	\$26.59		\$0.00

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	UNIT COST	PERFERRED PACKAGING	TOTAL COST
	Container w/Dolly	0	ea	Imperial Dade Dees Paper Office Depot	\$26.74 \$27.77	ea	\$0.00 \$0.00
77	Container, 23 gal, Wall Hugger	91	ea	Dees Paper Imperial Dade Office Depot	\$19.05 \$21.81 \$48.75	ea	\$1,733.55 \$1,984.42 \$4,436.25
78	Lid for 23 gal container, Wall Hug	74	ea	Dees Paper Imperial Dade Office Depot	\$6.50 \$27.17	ea	\$481.00 \$2,010.61
79	Container, 55 gal	95	ea	Imperial Dade Dees Paper Office Depot	\$29.77 \$40.00 \$70.81	ea	\$2,828.41 \$3,800.00 \$6,726.95
80	Classroom Waste Can	592	ea	Imperial Dade Dees Paper Office Depot	\$3.88 \$4.17 \$5.69	ea	\$2,294.00 \$2,468.64 \$3,368.48
81	Office Waste Can	268	ea	Dees Paper Office Depot Imperial Dade	\$4.93 \$5.50 \$5.94	ea	\$1,321.24 \$1,474.00 \$1,592.77
82	Mop Bucket and Wringer	216	ea	Office Depot Imperial Dade Dees Paper	\$43.95 \$44.72 \$103.43	ea	\$9,493.20 \$9,658.64 \$22,340.88

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	UNIT COST	PERFERRED PACKAGING	TOTAL COST
83	Janitor Cart/Cleaning Trolley	63	ea	Dees Paper	\$95.75	ea	\$6,032.25
				Imperial Dade	\$105.61		\$6,653.66
				Office Depot	\$108.80		\$6,854.40
84	Utility Trucks/Tilt Trucks						
	a. Utility Truck 800 lb	10	ea	Dees Paper	\$532.11	ea	\$5,321.10
				Imperial Dade	\$587.06		\$5,870.57
				Office Depot	\$899.99		\$8,999.90
85	Deluxe Steel Hand Truck	32	ea	Imperial Dade	\$62.49	ea	\$1,999.60
				Dees Paper	\$76.99		\$2,463.68
				Office Depot	\$139.99		\$4,479.68
86	Platform Truck	20	ea	Office Depot	\$139.99	ea	\$2,799.80
				Dees Paper	\$299.41		\$5,988.20
				Imperial Dade	\$340.24		\$6,804.77
87	Distilled Water	104	gal	Dees Paper	\$1.52	6 gal/case	\$158.08
			_	Imperial Dade	\$1.63	-	\$169.98
				Office Depot	\$2.47		\$256.88
88	Battery Fill Jug	30	ea	Dees Paper	\$8.03	ea	\$240.90
	,			Imperial Dade	\$17.44		\$523.13
				Office Depot			
89	Tank Sprayers						
	3 gal	37	ea	Imperial Dade	\$28.40	ea	\$1,050.72
				Dees Paper	\$32.07		\$1,186.59
				Office Depot	\$179.99		\$6,659.63

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	COST UNIT	PACKAGING PERFERRED	COST TOTAL
	2 gal	35	ea	Imperial Dade	\$17.36	ea	\$607.73
				Dees Paper	\$28.77		\$1,006.95
				Office Depot	\$74.99		\$2,624.65
90	Spray Bottles	6,462	ea	Dees Paper	\$0.40	ea	\$2,584.80
				Imperial Dade	\$0.48		\$3,069.45
				Office Depot	\$0.53		\$3,424.86
91	Trigger Sprayer	6,769	ea	Office Depot	\$0.46	ea	\$3,113.74
				Dees Paper	\$0.46		\$3,113.74
				Imperial Dade	\$1.14		\$7,699.74
92	Scraper 6" length	108	ea	Dees Paper	\$11.26	ea	\$1,216.08
				Imperial Dade	\$15.42		\$1,665.41
				Office Depot			
	Replacement blades	78	ea	Imperial Dade	\$0.53	ea	\$41.44
				Dees Paper	\$0.6457		\$50.3646
				Office Depot	\$9.94		\$775.32
93	Scraper 48" length handle	348	ea	Imperial Dade	\$9.09	ea	\$3,163.64
				Dees Paper Office Depot	\$14.96		\$5,206.08

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	UNIT COST	PERFERRED PACKAGING	TOTAL COST
94	Grabber, Trash						
	a. 36" Length	227	ea	Imperial Dade Dees Paper Office Depot	\$12.88 \$24.20 \$32.99	ea	\$2,922.63 \$5,493.40 \$7,488.73
	b. 51" Length	34	ea	Dees Paper Imperial Dade Office Depot	\$33.12 \$51.51 \$64.99	ea	\$1,126.08 \$1,751.39 \$2,209.66
95	Window Squeegee	42	ea	Dees Paper Imperial Dade Office Depot	\$2.38 \$3.61 \$24.19	ea	\$99.96 \$151.77 \$1,015.98
96	Foam Floor Squeegee	18	ea	Dees Paper Imperial Dade Office Depot	\$5.70 \$6.18 \$8.59	ea	\$102.60 \$111.27 \$154.62
97	Handle For Floor Squeegee	91	ea	Imperial Dade Dees Paper Office Depot	\$1.93 \$16.21 \$46.29	ea	\$175.80 \$1,475.11 \$4,212.39
98	Plunger	216	ea	Office Depot Dees Paper Imperial Dade	\$2.86 \$3.42 \$3.82	ea	\$617.76 \$738.72 \$824.73

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	UNIT COST	PERFERRED PACKAGING	TOTAL COST
99	Hand Pads & Holder						
	Holder	78	ea	Dees Paper Imperial Dade Office Depot	\$4.75 \$11.86	ea	\$370.50 \$925.36
	Fine	4	ea	Imperial Dade Dees Paper Office Depot	\$0.17 \$0.53	ea	\$0.69 \$2.12
	Medium	19	ea	Imperial Dade Dees Paper Office Depot	\$0.17 \$0.53	5/box	\$3.25 \$10.07
	Coarse	100	ea	Imperial Dade Dees Paper Office Depot	\$0.26 \$0.53	5/box	\$25.61 \$53.00
100	Rags, White	376	lb	Imperial Dade Dees Paper Office Depot	\$1.06 \$42.15	25#/box	\$397.36 \$15,848.40
101	Disposable Wiper	544	ea	Dees Paper Imperial Dade Office Depot	\$0.0585 \$0.07	180/bx	\$31.824 \$37.78

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	UNIT COST	PERFERRED PACKAGING	TOTAL COST
102	Microfiber Cleaning Cloth	691	ea	Imperial Dade	\$0.53	dz	\$369.06
				Dees Paper	\$0.55		\$380.05
				Office Depot	\$0.69		\$476.79
103	Carpet Bonnet	5	ea	Imperial Dade	\$17.78	dz	\$88.92
				Dees Paper	\$19.09		\$95.45
				Office Depot	\$43.15		\$215.75
104	Tan Buffer Pad						
	20"	42	ea	Imperial Dade	\$2.10	5 ea/case	\$88.39
				Dees Paper	\$2.22		\$93.24
				Office Depot	\$5.80		\$243.60
105	Pink Burnishing Pad						
	20"	6	ea	Dees Paper	\$2.22	5 ea/case	\$13.32
				Imperial Dade	\$5.57		\$33.42
				Office Depot	\$12.90		\$77.40
106	Natural Ultra Heavy Burnishing Pad						
	20"	544	ea	Imperial Dade	\$2.10	5 ea/case	\$1,144.87
				Dees Paper	\$2.22		\$1,207.68
				Office Depot	\$5.61		\$3,051.84
	27"	88	ea	Dees Paper	\$4.97	5 ea/case	\$437.36
				Imperial Dade	\$6.23		\$548.60
				Office Depot	\$12.56		\$1,105.28

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	COST UNIT	PACKAGING PERFERRED	COST TOTAL
	11"	3	ea	Dees Paper Imperial Dade Office Depot	\$0.93 \$2.87	5 ea/case	\$2.79 \$8.62
107	White Polishing Pad 20"	70	ea	Imperial Dade Dees Paper Office Depot	\$2.10 \$2.22 \$5.26	5 ea/case	\$147.32 \$155.40 \$368.20
108	Red Buffing Pad 20"	39	ea	Imperial Dade Dees Paper Office Depot	\$2.10 \$2.22 \$5.52	5 ea/case	\$82.08 \$86.58 \$215.28
109	Green Scrubber Pad 17"	16	ea	Imperial Dade Dees Paper Office Depot	\$1.62 \$1.74 \$4.78	5 ea/case	\$25.93 \$27.84 \$76.48
	20"	122	ea	Imperial Dade Dees Paper Office Depot	\$2.10 \$2.22 \$5.26	5 ea/case	\$256.75 \$270.84 \$641.72
110	Black Strip Pad 17"	53	ea	Imperial Dade Dees Paper Office Depot	\$1.62 \$1.74 \$5.02	5 ea/case	\$85.88 \$92.22 \$266.06

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	UNIT COST	PERFERRED PACKAGING	TOTAL COST
	20"	446	ea	Imperial Dade Dees Paper Office Depot	\$2.10 \$2.22 \$5.52	5 ea/case	\$938.63 \$990.12 \$2,461.92
111	Emerald Hy-Pro Pad 17"	46	ea	Dees Paper Imperial Dade Office Depot	\$2.86 \$4.09	5 ea/case	\$131.56 \$187.97
	20"	530	ea	Dees Paper Imperial Dade Office Depot	\$3.35 \$4.85	5 ea/case	\$1,775.50 \$2,570.50
112	Vacuum Cleaner Bags a. Vacuum bags for Advane Vacuu	26	ea	Dees Paper Imperial Dade Office Depot	\$0.4650 \$0.84	10/pack	\$12.09 \$21.83
	b. Vacuum bags for VS20	48	ea	Dees Paper Imperial Dade Office Depot	\$0.4930 \$3.84	10/pack	\$23.6640 \$184.27
	c. Vacuum bags for Pacer 112	22	ea	Dees Paper Office Depot Imperial Dade	\$0.6220 \$1.30 \$2.04	10/pack	\$13.6840 \$28.60 \$44.98

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	UNIT COST	PERFERRED PACKAGING	TOTAL COST
	d. Vaccum bags for Nilfisk-Advance Power One	25	ea	Dees Paper Imperial Dade Office Depot	\$0.8550 \$1.34	10/pack	\$21.3750 \$33.38
	e. Vaccum bags for Windsor Sensor 12XP	780	ea	Dees Paper Imperial Dade Office Depot	\$0.79 \$0.95 \$1.17	10/pack	\$616.20 \$740.11 \$912.60
	f. Hoover type Vaccum bags			Office Depot Imperial Dade Dees Paper	\$0.47 \$0.1454		\$0.00 \$0.00
113	Grout/Rough Surface Pads 20" 20"	0	ea	Imperial Dade Dees Paper Office Depot	\$11.36 \$27.20	5 ea/case	\$0.00 \$0.00
114	20" Dry Strip Pad 20"	0	ea	Dees Paper Imperial Dade Office Depot	\$3.2430 \$8.29	5 ea/case	\$0.00 \$0.00
115	Blue Driver Pad 10"	0	ea	Dees Paper Imperial Dade Office Depot	\$1.38 \$2.10	5 ea/case	\$0.00 \$0.00

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	UNIT COST	PERFERRED PACKAGING	TOTAL COST
116	10" Rectangular Heavy Stripping	g Pad					
	10"	0	ea	Dees Paper Office Depot Imperial Dade	\$0.58 \$3.12 \$10.81	5 ea/case	\$0.00 \$0.00 \$0.00
117	Surface Prep Pads			•			
	20"	0	ea	Dees Paper Imperial Dade Office Depot	\$2.60 \$8.29	5 ea/case	\$0.00 \$0.00
118	Maroon FPP Dry Strip Pads						
		0	ea	Dees Paper Imperial Dade Office Depot	\$3.2430 \$8.29	5 ea/case	\$0.00 \$0.00
119	Microfiber Daily Cleaning Pad 2	20"					
	20"	0	ea	Imperial Dade Office Depot Dees Paper	\$2.10 \$11.49 \$33.29	5 ea/case	\$0.00 \$0.00 \$0.00
120	Facial Tissue, Flat Box	377	box	Dees Paper Imperial Dade Office Depot	\$0.45 \$0.47 \$0.54	30/case	\$169.65 \$176.50 \$203.58
121	Jumbo Roll Tissue Dispense No Charge	584	ea	Office Depot Imperial Dade Dees Paper	\$0.00 \$0.00	ea	\$0.00 \$0.00

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	UNIT COST	PERFERRED PACKAGING	TOTAL COST
122	Jumbo Roll Toilet Tissue	11,555	roll	Dees Paper Imperial Dade Office Depot	\$1.5313 \$1.58 \$1.79	12 roll/case	\$17,694.1715 \$18,275.14 \$20,683.45
123	Toliet Tissue, Standard Roll	153	roll	Dees Paper Imperial Dade Office Depot	\$0.3359 \$0.38 \$0.47	96 rolls/case	\$51.3927 \$58.77 \$71.91
124	Paper Towels, Single Fold	232	pkg	Dees Paper Imperial Dade Office Depot	\$0.8631 \$0.91 \$14.40	16 pkg/case	\$200.2392 \$210.41 \$3,340.80
125	Paper Towels, Multi Fold	97	pkg	Imperial Dade Dees Paper Office Depot	\$0.97 \$0.9817 \$16.63	16 pkg/case	\$94.11 \$95.2249 \$1,613.11
126	Paper Towels, Hard Roll - Kraft	14,024	roll	Dees Paper Imperial Dade Office Depot	\$2.5733 \$2.66 \$3.12	6 rolls/case	\$36,087.9592 \$37,249.71 \$43,754.88
127	Paper Towels, Hard Roll - White	1,866	roll	Dees Paper Imperial Dade Office Depot	\$2.9750 \$3.07 \$3.99	6 rolls/case	\$5,551.35 \$5,732.22 \$7,445.34

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	UNIT COST	PERFERRED PACKAGING	TOTAL COST
128	Dispensers, Hard Roll Towel	675	ea	Imperial Dade	\$0.00	ea	\$0.00
	No Charge			Dees Paper	\$0.00		\$0.00
				Office Depot	\$92.50		\$62,437.50
129	Kitchen Roll Towel	114	roll	Office Depot	\$1.20	12 roll/case	\$136.80
				Dees Paper	\$1.3950		\$159.03
				Imperial Dade	\$1.59		\$180.72
130	Dispenser, half fold toilet seat covε	90	ea	Dees Paper	\$8.93	ea	\$803.70
				Imperial Dade	\$9.28		\$835.57
				Office Depot	\$13.49		\$1,214.10
131	Half fold toilet seat cover	224	pkg	Imperial Dade	\$1.57	4 pkg/case	\$351.27
				Dees Paper	\$2.64		\$591.36
				Office Depot	\$11.71		\$2,623.04
132	Plastic Sanitary Napkin Receptacle	339	ea	Dees Paper	\$7.75	ea	\$2,627.25
				Imperial Dade	\$13.40		\$4,541.83
				Office Depot	\$22.64		\$7,674.96
133	Sanitary Napkin Waxed Bags	308	bag	Dees Paper	\$0.0304	500/case	\$9.3632
				Imperial Dade	\$0.05		\$15.40
				Office Depot	\$0.13		\$40.04
134	Can Liners, 43" x 48", 1.7ml	2,724	ea	Imperial Dade	\$0.26	100/case	\$720.84
				Dees Paper	\$0.2635		\$717.7740
				Office Depot	\$0.54		\$1,470.96

ITEM#	DESCRIPTION	EST USAGE	UNIT MSE	BIDDER	COST UNIT	PACKAGING PERFERRED	COST TOTAL
135	Can Liners, 24" x 33", .50ml	4,796	ea	Office Depot Dees Paper Imperial Dade	\$0.03 \$0.0333 \$0.04	500/case	\$143.88 \$159.7068 \$184.97
136	Can Liners, 38" x 60", 1.7 ml	4,784	ea	Office Depot Dees Paper Imperial Dade	\$0.13 \$0.2448 \$0.27	100/case	\$621.92 \$1,171.1232 \$1,271.57
	* Description calls for Aerosol Spray. Price shown per oz.						
	GRAND TOTALS			Office Depot Imperial Dade Dees Paper			\$1,894,411.92 \$452,930.76 \$520,174.40